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Answers

1. 1,100

2. 1,400

3. 1,500

4. 880

5. 1,300

6. 1,850

7. 1,790

8. 1,560

9. 1,010

10. 1,020

Solve each problem.

1) A candy company sells 188 boxes of sugar candy and 949
boxes of chocolate candy every day. To the nearest hundred,
what is the sum of the boxes of candy they sell?

ten
200 + 900

1100

hundred
188 + 949

1137 = 1100

2) Two friends were counting the number of texts they sent in a
month. Alex sent 476 and Jessie sent 921. To the nearest ten,
what is the combined amount of texts they sent?

ten
480 + 920

1400

hundred
476 + 921

1397 = 1400

3) A pet store had 735 goldfish and 799 clown fish. To the
nearest hundred, what is the total number of both types of
fish?

ten
700 + 800

1500

hundred
735 + 799

1534 = 1500

4) For lunch, 753 students selected chocolate milk and 127
selected regular milk. To the nearest ten, how many milks
were taken total?

ten
750 + 130

880

hundred
753 + 127
880 = 880

5) Carl and Amy were collecting cans for recycling. Carl
collected 861 cans and Amy collected 438. To the nearest
ten, what is the total number of cans they collected?

ten
860 + 440

1300

hundred
861 + 438

1299 = 1300

6) Sarah was looking through old photo albums. The first had
977 pics and the second had 870. To the nearest ten, how
many pictures were there total?

ten
980 + 870

1850

hundred
977 + 870

1847 = 1850

7) John was playing his favorite video game. In the first round
he scored 891 points and in round two he scored 900 points.
To the nearest ten, how many points did he score total?

ten
890 + 900

1790

hundred
891 + 900

1791 = 1790

8) In a math book, there were 882 problems in chapter one and
681 in chapter two. To the nearest ten, how many problems
are there in the first 2 chapters?

ten
880 + 680

1560

hundred
882 + 681

1563 = 1560

9) A zoologist was checking the weights of two gorillas.
Gorilla A weighed 821 pounds and gorilla B weighed 193
pounds. To the nearest ten, what is the combined weight of
both gorillas?

ten
820 + 190

1010

hundred
821 + 193

1014 = 1010

10) Maria was preparing for a marathon. In the morning she
jogged 870 meters and in the afternoon she jogged another
145 meters. To the nearest ten, how many meters did she jog
total?

ten
870 + 150

1020

hundred
870 + 145

1015 = 1020
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Solve each problem.

880 1,560 1,300 1,790

1,100 1,850 1,400 1,500

1) A candy company sells 188 boxes of sugar candy and 949
boxes of chocolate candy every day. To the nearest hundred,
what is the sum of the boxes of candy they sell?

ten
200 + 900

1100

hundred
188 + 949

1137 = 1100

2) Two friends were counting the number of texts they sent in a
month. Alex sent 476 and Jessie sent 921. To the nearest ten,
what is the combined amount of texts they sent?

ten
480 + 920

1400

hundred
476 + 921

1397 = 1400

3) A pet store had 735 goldfish and 799 clown fish. To the
nearest hundred, what is the total number of both types of
fish?

ten
700 + 800

1500

hundred
735 + 799

1534 = 1500

4) For lunch, 753 students selected chocolate milk and 127
selected regular milk. To the nearest ten, how many milks
were taken total?

ten
750 + 130

880

hundred
753 + 127
880 = 880

5) Carl and Amy were collecting cans for recycling. Carl
collected 861 cans and Amy collected 438. To the nearest
ten, what is the total number of cans they collected?

ten
860 + 440

1300

hundred
861 + 438

1299 = 1300

6) Sarah was looking through old photo albums. The first had
977 pics and the second had 870. To the nearest ten, how
many pictures were there total?

ten
980 + 870

1850

hundred
977 + 870

1847 = 1850

7) John was playing his favorite video game. In the first round
he scored 891 points and in round two he scored 900 points.
To the nearest ten, how many points did he score total?

ten
890 + 900

1790

hundred
891 + 900

1791 = 1790

8) In a math book, there were 882 problems in chapter one and
681 in chapter two. To the nearest ten, how many problems
are there in the first 2 chapters?

ten
880 + 680

1560

hundred
882 + 681

1563 = 1560

Answers

1. 1,100

2. 1,400

3. 1,500

4. 880

5. 1,300

6. 1,850

7. 1,790

8. 1,560
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